
vectovt-ormsol-Greevisthmre.cat
: Green's Them Jqoudxt Ndy = ffp ( dong - dong )dA

Vector Form
#
I ? ( consider Stokes

'

Thun)
2-a

| Embed C
,
D into 423 and consider

124 E = (mkay) ,
Nlx

.y) , O)
*

Then curl E =

Join, Iggy0%2-1=6
,

o
, 8¥ - dong )

t t

and curl F.I =

so : Green's can be reinterpreted :

§E . ds =

-

+

-

INN
and M depend only on ×, y .

Oy

§
,

Mdx t Ndy = Hong - dong) da f ↳
curlE. Is da

" t
notation change Green's above

↳ foot .ds measures tendency of E to
"swirl

" (or curl !) around
axis defined by E

.



Vector form # 2 : ( consider
⇒

sin:÷:÷÷÷
.

"
' Ii:*." . ¥:*.)

Itt)= ( xAl ,ylt))

can rotate 90
°

clockwise to get

tilt) =
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so : flux ( foot .E#s ) is integral of divergence.

This is why we interpret dirt as tendency
to push out away from point.


